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RSSS (c) Prepare the statement of profit or loss for the year ended 31 March 2018.
B S (5)
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‘ g : Statement of profit or loss for the year ended 31 March 2018
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,:E (d) State which accounting concept applies when writing off irrecoverable debts.
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~\
(c) Complete the adjustment columns of the extended trial balance extract at
30 September 2018.
(12)
Ji
Extended trial balance extract at 30 September 2018
Balance Adjustments
Debit Credit
$ $ $
Bank 5325
Closing inventory — statement of financial position 23450
Closing inventory — statement of profit or loss 23450
Commission received 15 000
Disposal 4000
Drawings 18 000
Insurance 3600
Non-current assets — accumulated depreciation 24 500
Non-current assets — cost 35000
Office expenses 29750
Purchases 89750
Revenue (sales) 137 890
Trade payables 43 250
Trade receivables 37 860
Other payables
Other receivables
Suspense
J
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(d) Explain why it was necessary 1o adjust the|office expenses for the year ended
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(d) (i) Calculate the interest on capital for each partner for the year ended
30 September 2018.
You may show your answer in the table below.
(3)
Partner Workings $
Rimpy
Hyan
Tay
(i) Prepare the appropriation account for the year ended 30 September 2018.
(6)
Rimpy, Hyan and Tay
Appropriation account for the year ended 30 September 2018
J
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Hema
Statement of financial position at 31 March 2018
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Peenk Ltd
Statement of cash flows for the year ended 30 June 2018
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